Class 1(Maths)
C.A.E.H.S(Primary sec)
Lesson 6-Worksheet 3(Division)

Divide on the number line:-
S 4 3 2 1 jump(backward)
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0123456 78 91011121314151617 1819 20
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2)
01 2 3 4546 7 8 0 10 1112 13141516 17 18 19 20
+ = D
3)
01 2 345 6 78 9101112131415 161718 1920
+ = D
4)
0 1 2 34546 78 9101112131415 1617 18 19 20
5)
0 1 2 3 45 6 7 8 910 1112 13 14 1516 17 18 19 20
6)

0 1 23456 78 91011121314151617 18 19 20
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0 2345 6 7 8 91011121314151617 18 1920

T

8)

0123456 78 9101112131415161718 19 20
9)

012345678 910111213 141516 17 18 19 20
10)

012 34 56 7 89 1011121314151617 181920
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Sum no.1 has been shown to you.Show the jumps on the

number line and divide by repeated subtracton.Write the
answer in the box provided.Staple the worksheet in maths copy.

Maths H.W-Maths book Pg 89(do the H.W in the book)
Answers will be given in next class.




Class 1(Maths)
C.A.E.H.S(Primary sec)

Answers of worksheet 2(Ch 6 Division)

Find the number of groups and show in terms of
repeated subtraction and division.

1) 10 balls to be put in groups of 2 each
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So there are S ballsin 2 groups each.

2) 6 tomatoes to be put in groups of 3 each

3-3=0

So there are 2 tomatoes in 3 groups
each.




3) 18 strawberries to be put in pairs of 2 each.

16-2=14
14-2=12
12-2=10
10-2= 8
8-2=
6-2=
4-2=
2-2=

So there are 2 strawberries in groups of 9
each.




4) 12 candies to be put in groups of 4 each

So there are 3 candiesin 4
groups each.

5) 14 apples to be put in groups of 7 each

So there are 2 apples in 7 groups
each.




6) 40 mangoes to be put in groups of 10 each

40-10=30
30-10=20
20-10=10
10-10= 0

So there are 4 mangoes in 10 groups
each.
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